WEEGEE— (BEE 10) [(EEH)
= {'ﬁ W=ABEE (2022 4 4 H 27 HEM)

. a®—1 wloga _ ] N T _pT T _1 p*—1
(2) £, a4 = ‘loga = loga (z — 0) ITHEETS. Zh kD, a4 _— - —
x zloga T T x
a . a® —b* (%)xfl a
loga —logb = |log (7) (x —0) [HlE] = -b* — log (7) (x —0) .
b x x b
i Ty 1 s 1 —1
6)y=c—~ Bt o L DrEy 50 ZOLE, sin(e + 6,,) _sinlyt+3) -1 cosy—1
3 3 -z y y
~ (1 —cosy)(1 + cosy) _ —sin?y _ (siny)2 v 1'0:@ (= 0) .
y(1 + cosy) y(1 4 cosy) y 1+ cosy
7 1—cosz (1 —Cosx)'(l +cosz) cosx _ sinz_cosx 1 (- 0) .
rtanz rsinx 1+ cosx r 1-+cosx 2
" 1- 1 in? .
(iE] (6), (7) DFEHITIE, 1 —cosz % 1 —cosa = (1~ cosz)(1 + cos z) - e B LT, 2
1+cosx 14 coszx

AOAREMNT 1 —cosx = 2sin’(z/2) LEBKT 2 Sikd E<AVWSNE. ZOEELr BB IHFBOND

1 —cos 1
PRI lim —— 20 — A,
z—0 T 2
(8) 2= 0DEE sing — 0 THEMS, tan(sin x) _ s1n(81.nx) c?s:z: _ sm(.sm:r) cos.:z: _) (x = 0).
tan cos(sinz) sinx sinz  cos(sinz)
(03] tanz _ sinz Ccost > 1 & NT, tan(sin x) _ tan{sinx) x sinz o1
T T tanx sinx tanx

v . 7r - i _ LA
(11)y—§—x2:?3<<‘:,a:—>2 0DE&&E y— +0. _@837(2 x)tanx—ytan(2 y)

-Ccosy — .

sm

(12) HAXNBE L >THERS. y=1—2 (z=1-y) &5 Yr o 1DtEyYy 5 0THY, logaTs =

— _1
M ——1. o T, rToE = eloge’? % <: 1)

y €

tany -

log

(13) HAXNBMAE L > THERS. cosz =1+ (cosz — 1) ERRL, (7) LFEMRAFEZHAWT ((7) © [1E] £21),

log(cos x)m% =

log(cosxz) log(l+cosx—1) log(l4 (cosx —1))cosz —1 1 ( 1)
= = (3

22 2 cosz — 1 2

v 1
0). £- T, (cosx)% = elog(cosz) o _y (: 7)
e

(14) ¢ — 40 © & &, sinz — +0, log(sinz) - —o0 &0,

=——(z—

2

log(tan2x)  log(sin2x) — log(cos 2x)

log(tanz)  log(sinz) — log(cos z)
log(2 1 s 2
log(sin z) + log(2cos ) — log(cos2) _ L+ *EGHmRge=2s
log(sinz) — log(cos x) N 1— llog((CQb »L))
og(sinz

(5) @ = Tan"*(—4) LBV, sina DOfEizZRKDZ. tana = —4 (—g <a< g) Thdhrs,

1 4
l+tan?a=17. 2N &V, cosa = —— HDT, sina =tanacosa = | ——— |.
V17 V17
2 2
(6) a = Sin_l(—g) EBWT, tana D% KD S, sina = ~E (—g <a< g
9 21 V21 sin « —-2/5 2

1 —sin

a:2—5 tia:b,cosa:T.J:o’C,tana: = —

cos v \/ﬁ/5 VoL |

1
0s2 o

) THdHh5, cos?a =



(3] ()

a=Tan '2 2B e, tana=2>072 Cos 'z =a. Z2OLE, 0<a< g TH5H95, Cos 'z =a
1 [
V1+ tan? « V5

3%z H 5, 2 =cosa = THEZL6N1 5.

1 1
a = snrlg L, sina = 3> 072 Sin"lz = g—Qa. IDOrE 0<ac< g ThdHh5,

—g < g—Zoz < g £-T,Sin" = g—2a I3fEEHH o= sin(g—2a> =cos20 =1-2sina =

THZLN5S.

Ol

1 1 N
a:Tan_IZ i SN t,tana:ZG(O,l) ﬁ‘OTan_lx:£—2a. Z@t%,0<a<%’édbéﬁ‘b,
T T T T s tan I — tan 2«
e T o<l o, Tn e =t — 20 ik Lo =t (f—2):4—:
1 < 1 a < 1 °>TC Tan™ o = 7 a ¥z L 5, 2 an (o o T+ tanZ tanZa

1 —tan?2 N 2t 8 . 1-& 7
o ahsa ThHEzZ6N75. 22T, tan?azig:— THdNIH, x= 185 =|—=| i35
1+ tan 2« 1 —tan® « 15 1+ % 23

(] ZoMOABRRIMEE RN enb b, flZIE,

(4] ()

(2)

(5] ()

(2)

(3)

Cos 'z = Tan™'(-2) & (1) EMTWBA, ffE 7m0, EEE Tan '(-2) € (—g,O) =k
Cos™ 'z DI [0, 7] & E N,
LAR— | 4 I Sin ' o 4+ 2CosH(—3/4) = 7 BRE BBV, LER?

-1 N . i ™ - . s s
- S = —_— < —). Z =S — 5[ — — p) < — — <
@ =Sin""z B L, sinb ng 2_0_2) DL X x=sinb cos(2 9) b:0_2ﬂ-9_7r
TH305,Cos ! DEHFIZED 5—9:005_137. J:O'C,Sin_lx+Cos_1x:9+(§—9 =5

=Tan 'z B &, tanf =z (—g<9<g>. ZZT,z>04&0 0<9<g. ZDrE,

s
_ _ _ sin(§

r  tanf sinf  cos( —0)
T

i —0
1 1 cosf  sin( ) :tan<z—0)
2
7b>00<g—9< T SHzhs, Tan~! OEHIZLD 5 —0=Tan"’

™ ’/T2
0+ (3-9)=3

1
&oT, Tan la+Tan ' = =
x

8|~

(73] 2<0®D&EITiE, Tan 'z + Tan !

8

— _g DK D 370,

cosh? z — sinh® z = (cosh z + sinh z)(coshz — sinhz) = e* - e~ % = 1.
X =¢" >0 EBTIE,

o y=sinhz = %(e“—e‘”) - %(X—%) ED,X2-2yX—1=0. Th#E X KBT 3 2 WA L A

LT, X >0%3M1FE X =e* =y++/y2 +1. £>T,y=sinha O |z =log(y+ V2 +1)|.

et —e®  X-X1t X2 14y
= tanhz = = = ED X2 =¢¥=—=(>0). IO X
oy anhz = ———— Xrx 1 XT o1 ) e 1_y(> ) B9
. 1 N 1
52 AERAD X > 0%5iE X = 14—7/‘(/ X oT, y = tanhax OWEKIZ mzlog,/#
) - Y
(%6\1‘63: ;vzllogl—’—iy >
2 1—y

\ 1 1 1
X =e">0 tBCﬂi,y:coshmzi(em+e_m)=§(X+f)21 YD, X2 2X +1=0. ZO&
E y>1THhHs9ho, 2O X ICHTE2MARARFER®E X =y+ /2 -1 25D,
ez >0%R6l, X =e*2>1 &0, X =y+y2—1. £5T, y = coshz (z > 0) OHFFEHIL

z=log(y ++vy*-1)|




ez <0%RLIE, X =¢"€(0,1] &0, X =y —/y £-T,y=coshr (z <0)

(6] (1)

1
P . S
y+ vy -1
DM |z = —log(y +Vy? — 1) (2?)6\4‘6:]: x=log(y—vVy2—1) )

L R— hER&E

s

y:xf% r < Z,x%%@t% y 0. ZOLE, cos(w +3) _ cosly+3) _ —SmY ]

(x —0).

rT—% Y Y

log(1 +sin3z)  log(1 + sin3z) sin 3z

KR b > THA 5. log(1+sin3z)* " sn3r 3z

-3 —=3(x—0).

1
T

k5T, (1+sin3z)+ = eloglsinda)s

ﬂ
w

a —

b _ tana+tanf et o blatb) +ala—bh)
+b Ckb’tan(a—’—m_lftanatanﬂ_1—2"4’ a(a+b) —bla—b)

b
tana = —, tan 8 =
a
a? + b?
a? + b2 :'
b

b _
a<0,b>0%b ,a—-b<0. if:,a+b>oot07<0,a—<0. otf)“C,—E<oz<0,
a a+b 2
3

fg<5<()“6‘77r<oz+ﬁ<0. Z DT tan(a+ B) =1 2ATOE, a+ 8= .




